%é?@gw %7&:%}&6%@

i N A Y S IR AT
J T4 BT A L L 4333
‘ Hiifi: 0573-86059165 % Fi: 0573-83591595

FH1: 189-0683-5012 QQ: 929850133

Email: bolts@189.cn Mk www.luosic.com

S ERIRRIRME
ZFR: L e A (15 =k 7 $ihg 22 ’ H 3. 201649 H21H
bR DINGO3 (44T 3-HEH <-4 B2 160921603482
sEgge 4.8%% (Q195) HR0N: 9210 - 94300
R WG BN : 35 o, BmOUS
CLUR 7= i 58 735 B R FEEAT), A& S BN & 18 3%, BEAN B AL TF (100032)
KA T A T & FAE T AR AT & FAE T A% T =
M6*20 36.48 100] [M10*50 | 178.94 20| [m12*80 | 400.20 10
M6*25 40.80 100 [M10*55 | 193.20 20| [m12*85 | 423.20 10
M6*30 46.08 100] [M10*60 | 207.46 20| [m12r90 | 441.60 10
M6*35 51.36 50| [m10%65 | 221.72 20| [m12*95 | 464.60 5
M6*40 56.64 50| [m10*70 | 235.98 10| [m12*100 | 483.00 5
M6*45 61.92 50| [m10%75 | 250.24 10| [m12*110 | 524.40 5
M6*50 67.20 50| [m10*80 | 264.50 10| [m12*120 | 565.80 5
M6+55 72.48 50| [m10*85 | 280.60 10| [m12*130 | 607.20 5
M6*60 77.76 50| [m10%90 | 293.02 10| [m12*140 | 648.60 5
M6*80 08.88 30| [m10*95 | 308.20 10| [m12*150 | 690.00 5
M8*20 63.48 50| [m10*100| 322.00 10| [m12*160 | 731.40 5
M8*25 70.84 50| [m10*110| 350.06 10| [m12*170 | 772.80 5
M8*30 78.20 50| [m10*120| 378.58 10| [m12*180 | 814.20 5
M8*35 87.40 30| [m10*130| 407.10 10| [m12*190 | 855.60 5
M8*40 96.60 30| [m10*140| 437.00 10| [m16*30 | 418.60 5
M8*45 | 105.80 30| [M10*150| 464.60 5| [M16*35 | 450.80 5
M8*50 | 115.00 30| [m10*160| 492.20 5|  |M16*40 | 483.00 5
M8*55 | 123.74 20| [m10*170| 519.80 5| [M16*45 | 515.20 5
M8*60 | 132.94 20| [m10*180| 547.40 5|  |M16*50 | 547.40 5
M8*65 | 142.14 20| [m10*190| 575.00 5| [M16*55 | 579.60 5
M8*70 | 151.34 20| [m10*200| 602.60 5| |M16*60 | 611.80 5
M8*75 | 161.00 20| [wm12*30 | 210.22 20| [m16%65 | 648.60 5
M8*80 | 169.28 20| [m12*35 | 227.24 20| [m16*70 | 685.40 5
M8*85 | 179.40 20| [m12*40 | 244.26 10| [w16*75 | 722.20 5
M8*90 | 188.60 20| [m12*45 | 261.28 10| [m16*80 | 759.00 5
M10*20 | 104.42 30| [m12*50 | 28152 10| [v16*85 | 795.80 5
M10*25 | 115.92 30| [m12*55 | 301.76 10| [m16%90 | 832.60 5
M10*30 | 127.42 30| [m12*60 | 322.00 10| [m16*95 | 869.40 5
M10*35 | 138.92 20| [m12*65 | 342.24 10| [m16*100 | 906.20 5
M10*40 | 150.42 20| [m12*70 | 362.48 10| [m16*1120 | 979.80 5
M10*45 | 164.68 20| [m12*75 | 381.80 10| [M16*120 [1053.40 5

1 ik SBAEIE %, AT (10007) .

2 A BHIIRYE T MR EoR e, — RN20-50 K e Aq.
303 4R Gk 4THE.
oAb A A, ISR AN




